Ellipse WS Name:

. What is the equation of the ellispe whose
center is at (-1,3) with the horizontal ma-
jor axis of 6 and the vertical minor axis
of 47

. What is the center of the ellipse
922 + 362 + 25y — 50y = 1647

. What is the size of the major axis of the
ellipse
922 + 36x + 25y* — 50y = 1647

. What are the foci of the ellipse
922 + 362 + 25y — 50y = 1647

. What is the equation of the ellipse cen-
tered at (5,-1) with a major horizontal
axis that measures 10 across?

6. Graph the ellipse
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1. What is the equation of the ellispe whose
center is at (-1,3) with the horizontal ma-
jor axis of 6 and the vertical minor axis
of 47
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2. What is the center of the ellipse
922 + 36z + 25y% — 50y = 1647

Factor and Complete the square to get
into standard form

9(z® + 4x) + 25(y* — 2) = 164

6. Graph the ellipse
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So the center is (-2,1)
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3. What is the size of the major axis of the
ellipse
922 + 362 + 25y — 50y = 1647

Using the standard form from question 1,
the horizonal axis goes V5 = 5 to the left
and right of the center, so the axis is 10
across.

4. What are the foci of the ellipse
922 + 36x + 25y* — 50y = 1647
Since ¢ = /25 — 9 = 4, the foci are (—2+
4,1) or (-6,1) and (2,1).

5. What is the equation of the ellipse cen-
tered at (5,-1) with a major horizontal
axis that measures 10 across?
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where b is any number such that 1 <b <
25 (so that the vertical axis is the minor
axis).
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